
Subject: Re: Access to EventHeader. after Digitization
Posted by Michael Papenbrock on Mon, 21 Nov 2016 09:05:24 GMT
View Forum Message <> Reply to Message

Dear Radek,

I implemented the change and it seems to be working for the first event, i.e. the event time for
the first event is carried over and can be accessed. However, for subsequent events I get the
output below. The returned value of GetEventTime() is always the one of the first event.

Error in <TClonesArray::At>: index 0 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 1 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 2 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 3 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 4 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 5 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 6 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 7 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 8 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 9 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 10 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 11 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 12 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 13 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 14 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 15 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 16 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 17 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 18 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 19 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 20 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 21 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 22 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 23 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 24 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 25 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 26 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 27 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 28 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 29 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 30 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 31 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 32 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 33 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 34 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 35 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 36 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 37 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 38 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 39 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 40 out of bounds (size: 0, this: 0x35df510)
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Error in <TClonesArray::At>: index 41 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 42 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 43 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 44 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 45 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 46 out of bounds (size: 0, this: 0x35df510)
Error in <TClonesArray::At>: index 47 out of bounds (size: 0, this: 0x35df510)

Cheers,
Michael
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